bE
1 Pm&hi;ili:_\' of a sure vvenl‘ s

";
w ® 3

1
(©) & (M 0

A increase the pressure of
the refrigerant so that the _ret_'rigerant
vapour would be able to dissipate its
latent heat to the atmosphere.
(A) Cold side of system
(B) Evaporator
(C) Compressor
(D) Condenser

Arrange the following CMs of Haryana in
chronological order :

1. Rao Birender Singh

2. Banarasi Das Gupta

3. Bansi Lal

4. Chaudhary Dewvi Lal

Select the correct answer using the codes
given below.

(A) 2, 1,4, 3 (B) 1,3,2 4

() 1,43,2 (D) 1,23, 4

In a vapour absorption refrigerator, an

analyzer is provided to

(A) remove water vapour

(B) remove condensed refrigerant
vapour

(C) collect enough refrigerant

(D) maintain suction pressure in -
evaporator

The distance of the point P(1, -3) from
the line 2y - 3x =4 1s

(A) 7;-% (B) 13
(C) V13 D) 7

The motion which is not simple harmonic is
(A) Vertical oscillations of a spring

(B) Motion of simple pendulum M@;
(Cyfotion of a planet around the sun
(D) Oséilation of liquid column in a U-tube

7. What ig the refr -
Péquirernent for frog tion temperature
(A) .1 0°C
(C) —35°C

e

e 19SC Mechanic (AC) 1_2020 Cat 11 (17.8.2021) P&i\ger

020 (11)

V- v ifvaa v £ wifwan
@A 1 ®) 3
1

-

')
101

Hrt feufiu 352 1 W F0E w8 I g |
(Ax271, 4, 3 B) 1,3,2,4

491, 4, 3, 2 (D) 1,2, 3,4

AT rFyiuT SR § U TATESH YeH
o st ®

(A) STETaT™ il T FA F fore

(B) "ufid hsite gem & fog

(C) At kst g #3 % fag

(D) FATIET H FFHA YW T, T F g

w2y -3x=48fg P, -3) M2

4

FAEEEETR

1

(A) % B) 13
(C) V13 (D) 7

& e ifa < e s (R
(A) f&m =1 35t 2em
(B) &% Ygem =l i
(C) g % = ¥ wF 7
(D) T -3 § 79 W F Ao

1450 g (W) @ v % for s
ERIGERICEIERC e R

(A) -10°C B —-15°C
(C) -35°C (D) -45°C
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- fren ad | &
8. The Charkhi-Dadri district of Harvana B¢ m*a@“m . i
was formed in the year freiart 2013 (@) feEs 2015
(A) December 2013 (B) December 2015 @ . () = B s T
(C) December 2014 (D) None of these (©) fegar 2014
P o, ATEE &FEAl ATel
9. A human body can be considered as ﬂ/ LRI e 2
thermal machine with % thermal A wefr AT gahdl
efficiency. (B) 30
(A) 60 (B) 30 (A) 60 Dy 20
(C) 45 (D) 20 (Or 45
10. Which among the following scheme was | 1, freiferaa d & FA-dl mgﬁwnaﬁ ﬁuw
launched by Haryvana Govt. to provide 2 qﬁmtm'tr{ 9 AEHEFHA k
solar based home system to meet domestic =3 F fou o amaTid & firen 3uersy
basis energy needs ? 3% ﬁq‘l’{lﬁ #1 fl-g oft 7
(A) Swarna Jyothi (B) Graha Jyothi (&) @ =i (B) T
(C) Jeevan Jyothi (D) Manohar Jyothi © Sfram =9 (D) RATEL
11. Extended surface evaporators are used 1&/‘%@%%@3&%% I T wman @
(A) for maintaining compressor inlet ° (A) T -5:@13 ECIE] mt@ﬁ ERTIY
pressure 0
(B) for maintaining evaporator (B~ * H,I e el a-'-f%fq
o tel);npera_it.gre " g = mﬁﬁwm@
(C) when air 1s to be coole {D)@fﬁﬁﬁaﬁqﬁ

(D) none of the above

12. If the volume of a cube is 729 em?, ther 12. afz fadt = =1 JAEaE 729 cm? &, T I H

the surface area of the cube will be ) qde mm@ﬂ'{ ?
(A) 486 cm® (B) 456 cm*’ (807486 cm? (B) 456 cm?
(C) 466 cm? (D) 476 ¢ (C) 466 cm? (D) 476 cm?
13. A material which gets decomposed 19@@9@*%@%%@@%
through natural processes, such as action 2 SI9fed B %, FETRE |
by bacteria is called as @A) T'm
(A) Recycling (B) T-Sa-3qaeHE
(B) Non-biodegradable
: (C) -3
(C) Biodegradable
(D) Biodiversity ()~ fafaeran
14. What is the fouling factor in condensers 14. FIH 5@ * %N GHSTFER‘I Feagt o LRl
FE (FI3ferm Heaer) | R 7

recommended for copper tubes ?
(A) 0.00009J 'sm’K
(B) 0.00029J 'sm*K
(C) 0.00028J 'sm’K
(D) 0.00018J 'sm*K

(4} 0.00009J-'sm*K
(B) 0.00029J lsm2K
(C) 0.00028J 'sm?*K
(D) 0.00018J 'sm?K
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15.

16.

17.

18.

19.

20.

21.

1/2020 (1,

g A R
da | 15 e 35 whE A P
f the river Markanda ﬁ/ Frem (B) 59
The ancient name © ) (A) (Dy 37
in Basgel™ (B) Chajju (C) T,
(A) Aruna .
(C) Yamu (D) 6 am ﬁﬁq—qmm ﬂ’f'\iﬂ?ﬁ%, £E=
Heat Exchanger ' isqiwn[;)yﬁ= &/(,}) gredtaeh ad m/?ﬂmﬁ'“ﬂﬂam
/maximu .
Actual heat transfer 2T . )
v ;;ga:ible heat transier fer/ B) AferaFam v aTd AT /m am
(B) Maximum possi t_e heat trans Nt
] heat transter . . am
(©) :;tnui?nu;lapossible heat transfer / (©) :Erar-r |va a9 3T /E'R-'(‘Iﬁa’- Haw
actual heat t{:]nsfer (D) I Y s T8
h ve
sy 17 qﬁqfhﬁaﬁaqrampKﬂaﬂTNHpHaﬂpr
Ifthe pK, of aceticacid and pKy of NH,O1 e T 4.76 3T 4.75 &, @ AN fEee
are 4.76 and 4.75 respectively, then pH : 1 pH 2
of ammonium acetate( ;c;ll:tgglais &y 101 (B) 7.005
A) 0.01 7. o SO e
(C) 9.51 (D) 4.755 SL.) 9.51 (D; 4.755
Chemical formula of Freon 12 is 18/ smr_rg‘\u mzmmﬁﬁ q3 .
(A) CHCIF, (B) CCLF, (A" _,H(.I}'z (B) CCl,F,
(C) CCIF, (D) CH,CI @) CCIF, (Br CH,CI
Who among the following freedom t@ 'EfWTUﬂ ¥ frefafas waga ganfa ° @
o8 FeeraTe o1 I e AT 91 7

fighters of Haryana was known as the
‘Lion of Ballabhgarh’ ? B
(A) Raja Nahar Singh

(B) Rao Tularam

(C) Rai Bahadur Lala Murlid

(D) Noor Samand Khan
The area of P-V diagram for a Carnot cycle
represents
(A) heat supphed
(B) heat rejected
(C) work done
(D) temperature drop

A man goes 5km towards east, then he
takes a turn to south-west and goes 5 km.
He again takes a turn towards north-west
and goes 5km. With respect to the point
from where he started, where is he now ?

(& T e e

(B) T/ gemm

(C) T T AT TeiTel

(D) T EHe @H

UF FHEC 9 F [0 P-V 3G F1 895
ayiian 8

(A) 3mgfd e e

(B) @S ot e a1

(C) FaFHE

(D a9 § firrae

21”0 =R 5 km T R st 2, fraw
aferor-vfrem fewm it 3R T2 5 km T
2 | i, T Im-ufvem fom A sinqew 5
km =T & | Fore forg & 39 o s o

/261

o1, 38 3R B AN H 7€ 379 el B 7
W@ (B) IW
(C) ufyem (D) =feqm

(A) East (B) North
(C) West (D) South
%

e

i
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24.

26.

27.

28.

29.

rature of ammonia is

oritical te
@A) 1324°C (B 157.2°C
(© 31.0°C (M 36.5°C
Which among the following Chief Minister
of Haryana had declared complete
prohibition on Liquor in State ?
(A) Devi La (B) B. D. Gupta
(©) Bansilal (1)) Virender Singh

What is the operating pressure of
ammonia at 40°C ?

refrigerant
(A) 15.33 bar (B) 15.54 bar
(O 16.638 bar (D) 9.6 bar

Kushana Period is famous for the growth
of thas Greco-Roman Art

(A) Nagara Style of Art

(B) Mathura Art

(C) Gandhara Art

(D) Vesara Style of Art

In Harvana, Deru 18
(A) A kind of refreshing drink famously

consumed in Haryana

Al G ooy

gl
aFOF L 167.2°C
puet  oure,
H . E T =4
3 e & 78
e B e T

(B) An instrument made of wooden

shell
) A festival celebrated to welcome tV

spring season
(D) None of the above

The atmospheric conditions arg_ »°\ DBT
and specific humidity of 10 g of air.
Determine the partial pressure of vapour.

2 (B) 0.0268 kg/em®

(A) 0.0163 kg/em
(D) 0.0465 kg/cm?

(C) 0.0358 kg/cm?

Which of the following Harappan sites is
the largest site in India ?

(A) Kunal (B) Mitathal

(C) Rakhigarhi (D) Bhirana

[n a power station, 218 tons of coal with
a calorific value of 29 5 MJ/kg is burnt
per hour. If the efficiency of conversion
is 28%, determine the power developed.
(A) 250 MW (B) 434 MW
(C) 350 MW (D) 500 MW

e feafeat 25°C ad A a?n;gr:
lﬂgmfkgaﬁ’!fawam‘:ﬂ'lﬁ | TS
1

Zam@ 14 L
(A) 0.0163 kg/cm?
(C) 0.0358 kg/cm?

ﬁﬁ%ﬁﬂﬁﬂm—mmmmﬁ

v

(P) 0.0268 kg/cm®
(D) 0.0465 kg/cm?

28
FAR AL AR
(A) (B) Taags
y oy TR (D)
26, TR 29 §, 205 M/kg F FenfEF

£ o 218 7 e WA S S S
5 | 7f2 wura ) 2aE 28% &, W

e 1 Frafor )
(A) 250 MW (B) 434 MW
(9- 350 MW (D) 500 MW
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30.

31.

32.

33.

34.

5.

(

. In 1886, Lala Lajpat Rai started his
1*' law practice at
(A) New York
(C) Hisar

A

Which of the following are also called
hi

shooting stars ?
(A) Rockets
(C) Metcors

The language processor that transla .
single statement of source pl‘Ol.’.l‘ﬂm- into
maéhine code and executes 1t immediately
before moving on to the next line is called

(B) Assembler
(D) Converter

(B) Asteroids
(D) None of these

tes A

(A) Compiler
(C) Interpreter

Ice is formed at 0°C from water at 20°C.

The temperature of the brine is —10°C.
Find the ice formed per 1 HP hour.
Assume that the refrigeration cycle used
is perfect reversed Carnot cyvcle

(Latent heat of ice = 80 kecal/kg)

(A) 67.67 kg (B) 55.5 kg

(C) 73.56 kg (D) 78.89 kg

The First Women's State University of
Haryana is named after
(A) Swami Shraddhanand
(B) Bhagat Phool Singh
(C) Swami Dayanand

(D) Kalpana Chawla

Freezing point of sulphur dioxide is
(A) -50.8°C (B) -73.2°C
(CY-~T7.7°C (D) -56.6°C

(B) Record

C) Field (D) Table

(B) Lahore

describes all the data concerning

one person or thing.

(A) Relation

(D) Rohtak

8-

39~ Fefefian 12 #A

(3—[’.

1/2020 (11) .Ii

,mggmammﬂmmg;

(A) Te (B) Tfes
(©) 5 (D) ¥ 8 FE 7

S S, 9 @ ST F T Ty

oy fi e i TaTe F & S e Fg

) @ gea veet 7@ fetEa F R, R
el a2 | .

AK) FITGER (B) =T

(C) geuhie Dy Wt

34] 20°C @ 0°C W A% TN B | T F

A ~10°C ® , ¥fd 1 HP =2 5 fuw %
1 o1 | St weitad =6 g1 e FeEe
TEE |
(w5
(,»'J:) G%h‘f kg
(CI73.56 ke
efamn # veet afeen =3 Gvafaaem =@
T & AH T @ TR |
(A) T YZER
A5 W F few
(C) =t 2aTe
(D) F=9 =1 T1aen
34, HEH IRATTTS F1 farrien 2 &

(A) -50.8°C (B) —73.2°C

F fequ sawgss a9 = 80 kealkg)
(B) 55.5 kg
(D) 78.89 kg

(C) —~77.7°C (D) —56.6°C
/(__ﬁf@ﬁm S M 7% 3 Haifv @t

21 1 T FAT R |

(A) femm By ferre

(C) FIeg (D) o=

,&{ 1886, TN SATS9A T4 + 101 Teeh g#eq

4 y& #i |
(A) AT B e
(D) Tea

() fear
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” :
changeable aspectsofphysical phenomenon

39.

40.
41.

42.

43.

works on contin uously

such as fluid pressure, mechanical motion
and electrical quantities,

(A) Digital computer

(B) Analog computer

(C) Hybrid computer

(D) Micro computer

The process of continuous heating and
cooling of the equipment or system by
varving the heat load is known as

(A) sensible heat process

(B) latent heat process

(C) degree of saturation

(D) none of the above

was carved out from Bhiwaniand

formed as a new district of Haryana.
(A) Jind (B) Charkhi Dadri

(C) Jhajjar (D) Hisar
Heat removing capacity of a one tor
refrigerator is

(A) 25 Keal/min (B) 50 Keal/r
(C) 60 Kcal/min (D) 100 Ke-
Which among the followin

resistivity ? y
(A) Silver (B) } .iganese
(C) Manganin (D) Gass

200 cu. m. of air per min. is passed
through the adiabatic humidifier .The
condition of air at inlet is 40°C DBT
and 15% RH and the outlet condition is
25°C DBT and 20°C WBT. Find the dew
point temperature
(A) 8.5°C

(C) 9.5°C

In the battle of Plassey, the British East
India Company's army was lead by

(A) Lord Wellesley
(B) Lord Cornwallis
(C) Robert Clive

< low

(B) 10.5°C
(D) 12.5°C

(D) Sir Eyre Coote

-

}3‘.’

42.

/"'

172020 (11)

(C) F==1
o 74 e 1 el 7 A @
(A) 25 Kcal/min BY 50 Kcal/min
(C) 60 Keal/min (D) 100 Keal/min

Erfafas 4 @ Fad sfmusa a2 7
(A) Ifd (B) Hrts
(C) = (Dy #i=

ufsamfes sgfafewrar & mrom | wfa fose
200 cu. m. B oA B | TR W FAT H
feufa 10°C € &t A 3l 15% M TE R iR

smseere # feafa 25°c & @ & 3 20°C
o &l A1 2 | 37 Taig Ao 8 e S |

(A) 8.5°C (B) 10.5°C
9 9.5°C (D) 12.5°C

43,, i #1 =2k ° fafew = ifem Fwh

o1 1 e frem T an 7

(A) STE Tt

(B) dTE FHameg

(C) Ta Fega

(D) BT 3 F2
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44.

45.

46.

47.

48.

49.

50.

A

metric pressure in mm

1/2020 (11)

9980 izt ) Fard F a0 mm Hy A Amfrz

What is the baro
Heg i;m- a altitude of 2280 m ? 1 7T 27 »
\) 760 (B) 693 (X 760 (1) b.:.ﬂ
e 77 (C) 633 (1)) 574
(C) 633 (D) 574 B
Which among the following p;:ugmm VWW‘ﬂ # 213 B FI “'qa’mﬂﬁﬂ
was launched by the Haryana Govt. to ﬁmﬁammﬁummmﬂf
develop skilled manpower in the field of arm P Erafafad § 4 Aa-m2
renewable energy ? . A) P ._
(A) Swarnim Jayanthi Scheme i q\d fq;min AT
(B) Surva Mitra g En <
(C) Ujwal Assurance Yojana ( mmm pIEE]
(D) None of the above (D) 3 § A 13 T
The operating system takes care of ‘2( fafy= W Eal ‘c’ﬁ‘fl"{!?l'ﬂ"?l & HAEIA Fl
the allotment of CPU time to different @Tﬁmm@m%,iﬂ
FE AR |

processes is called
(A) Allotting
(C) Time sharing

(B) Processing
(D) Scheduling

) sz (1 wEEE
(C) gt (D) Iregfem

3*4?" Al a4 Bzﬂﬂ'ﬂ'ﬂ%
1X

If a-ip= —————3'—4?"' . then the value of /‘(7/ AR - i = 344
L 3+ 4ix , y
a?+ B*= (A) 1 (B) 2
(A) 1 (B) 2 &
1 1

©) 5 D) 3 (C) 5 D) 3

Indira Gandhi University in Hary-  vas 7 fen iieh farvafermem femm E
located at o 21

(A) Hisar (B) Rewari (a) feam B T

(C) Ambala (D) Karnal (C) 3TN (D) FEA=

The measurement of thermodynamic | 49 mmmmmww
property known as temperature is based on 2, 77 AraiE 2 2
(A) Zeroth law (A) 7= (me) = o w
(B) First law of thermodynamics (B) 91 1 TEe Fram W@
(C) Second law of thermodynamics (C), o] 1 zam S

(D) None of the above
In 1946 ‘The Objectives Resolution’ in
Constituent Assembly was moved by
(A) Pattabi Seetharamiah

(B) Dr. Babu Rajendra Prasad

(C) Dr. B. R. Ambedkar

(D) Jawaharlal Nehru

(D) AR A FE TG

1916 ® HfEUR 8 ¥ 32va waE FeE
Zm s fF e a7

(A) TETE HIARTHZ

(B) <. =g TSz TEE

(C) 2. &ft. 9N, srEEE

) AT JEE

52./
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52.

53.

54.

55.

Gtate tree of Haryana is
(B) Mango
(D) Neem

(:\] (Coconut
() Peepal

Dew point temperature lines on the

psychometric chart are

(A) straight inclined slopping
downward to the right

(B) curved

(C) vertical

(D) horizontal

e W small silicon chip or
wafer made up of extremely purified
silicon crystals.

(A) Microprocessor

(B) Vacuum tube

(C) Integrated circuit

(D) Transistor

At which place the battle between General
Lake's British forces and the Marathas
took place on 6 September 1803 7

(A) Pratapgan) (B) Panipat .
(C) Gurugram (D) Hisar g

out BS
standards

Choose the correct statemer
(Bharat Stage) — VI emis
of the Government of Ind .

(A) India is currently ope rating on the
BS = V emigsion norns.

(B) The Central Government has
announced that from April 1, 2022,
all vehicles sold in India should
comply with Bharat Stage — VI or
BS — VI emission standards.

(C) The BS standards are the legal
limits on the amount of air
pollutants like carbon monoxide
(CO) and particulate matter that a
vehicle in India can emit.

(D) None of the above

1/2020 (11)

e (
;;)rd’ﬁﬁ ®)
/(mmﬁﬁﬂﬁ“ﬁmwgm
(H)H_iﬁ
(pyaad
(D) &fe ol
e faferaria fora A THRE, S
> m%wﬁwm%t
(A TR
(B) FFE
((.‘)?éﬁég
(D_}:JW
54 mmmmﬁﬁﬁﬁ&mﬂmmm
" 5 e ¢ fadER 1803 F IR A
(A TS (B) TG
(C) T (D) femm

357 A TET 4 vg (awa =) — V1 S
e ¥ A # Fratataa w1 8 7 F9R
cakecl
(A) FETE § v § il T - V I
T F1 I [ S 2l

B) F=2 TN 3 amon F1 2 F 1 e,
2022 ¥ WA § 99 A g ¥t Jea
qA T - VI A w - V] IS
A F ST F |

(C) = U UHF FEE WA (C0) 3R
uféspez e S 37 T e
N A FEER HE 72 R
U A6 WA 8 Ie6fHa 77 g 2

(D) 3% | A F12 38
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58.

60.

61.

62.

1/2020 (11)

e e 1 70 R T TR ¢

: ler of the 4 .
ho was the first Mm-!m! ru
':‘l-l:\-n‘:l:;:ml‘\- in Haryana 4 :;\‘: wfam e
< ynast -
(A) Razn Sultana
(1 Nrurmash " L()r‘ s
(e inh-ml-tlm Aaba oy B3R A
(D) Balban HelalH | ‘
A syvstem comprsing @ cingle phase 18 .5’7/. e m i v A . - 5
£y 8
known as (xf ST fa e
(A) open system () F e
() e R
FrirsfrTew foen

(B) closed system
(") homogencous
(D) heterogencous sy

.u_\'.,‘[l.‘l“
stem

Halophytes are

(A) Plants adapted 1o grow
water conditions . :

(B) Plants adapted to growing in saline

ing in less

conditions BN '
(") Plants :]d.‘l]ll{f(l to gmwmg m hlﬂh

temperature conditions
(D) None of the above
Which Chapter of Haryana Panchayati
Raj Act, 1994 deals with Duties and

Functions of Zila Parishad ?
(A) Chapter X (B) Chapter XJ

(C) Chapter IX (D) Chapte- .|

r

In mechanical refrigeration  stem, the
refrigerant has the maximum temperature
(A) 1n evaporator

(B) before expansion valve
(C) between compressor and condenser

(D) between compressor and evaporator

Pick the odd number.

(A) 75159
(C) 189 ;

I"\

(B) 437 -
(D) 347 ;»

Adiabatic dehumidification is based on
the principle of
(A) Expansion
(B) Adsorption
(C) Evaporation
(D) Condensation

58¢

5

(M

FelETEed © P
(:\)mmﬁqﬁ@zﬁﬁnwmm

e MH

(B) Tramtr Rt 1 3 % fag
Nﬁ%ﬁtﬂ‘ﬁ

() =3 A Rt § I fen
¥ e

37a 4 § F12 TE

" afeon e T SN, 1994 F -8
31T e uftee F Fasa S 8 Hataa

®7?

(A) AW X (B) @1eama Xl1I
(C) 31/ 1X (D) F™ XV1

@/aif%%uyﬁmavm:ﬁﬁ‘t&mhmm
AT el &

(A) ZATTELH
(B) forem area & e
(O FIHL 3 LT F W=
(D) TS 37 FAUH F #=
61,/ 5mTa TEm 1 T |
/g,oo 751 (B) 437 = °
(C) 1897 \¢ (D) 347 o™
62, wa Frrdier e farga w s @ 7
(A) FEI (3FETH)
(B) SISO (TSHISH)
(C) AR (FaTeT)
(D) TR (FSHTH)

0
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63. Natonal Dairy Research [pg;

66.

67.

68.

established at . 19::1;“;-:“
shifting to Karnal district of Haryan .
a.

(A) Mumbai
(C) Bangalore

) Chandigarh
(D) Delh

Calculate the critical pressyre of O
ideal gas equation and Vap def
equation.

(A) 180 bar, 80 bar
(B) 200 bar,70 bar
(C) 173 bar, 65 bar
(D) 150 bar, 90 bar

5 Using
Waal's

If in a certain language ‘REMOTE' is
coded as "ROTEME’, then which word
would be coded as PNIICC ?

(A) NPlICC (B) PINCIC
(C) PICNIC (D) None of these

‘Ratnavali’ 1s a famous work of
(A) Kalidas (B) Harshavardhe
(C) Banabhatta (D) Nagachan’

The comfort conditions in air
conditioning are at (where DBT = dry
bulb temperature and RH = relative
humidity)

(A) 25°C DBT and 100% RH

(B) 20°C DBT and 80% RH

(C) 25°C DBT and 40% RH

(D) None of these

Japan has a parliamentary system with
the as the head of the State.

(A) Emperor
(C) Chancellor

(B) Prime Minister
(D) President
_____ fibers embedded in plastic
material are used in tennis rackets.
(A) Glass
(C) Graphite

(B) Aluminium
(D) Silicon

1

~11-

J

172020 (11)

(B) 200 3R, 70 AR
(C) 173 9, 65 AR
@)A150 AT, 90 T

af2 v fafea s # REMQTE ¥ F13
ROTEME ®, 7t farm 7rez 1 F13 PNIICC

7
@'ﬁ'mwc

Q) PICNIC

(B) PINCIC
(D) &8 & #rd T

v FEm A gl feafe R
W UE = W HATEAT)

(A) 25°C DBT 3 100% RH

(B) 20°C DBT 3 80% RH

(Cr 25°C DBT 3 40% RH

(D) 77 @ 1§ T8

68, ST 1 FHE yorreht H T+
WE B R |
(A) §HTE

(VAR

(B) TR

(D) Tr=afd
aq I AT e § s i
71 &, 2 e 1 wam o wm #

(&) F (B) TrgHifram
(C) IFrEE @ e
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70.

Lk halis are nol rllllllll mthe
i

Shy ¢ of Haryana

distre .
Sarsi

A\ Yamunanagar il

. (N Ambala

(" Panchkulo
18 sed with
Which pipe material 18 not us

7l
ammonia 7 .
(A} Alummium (B) Copper
(C) tron (I None of these
72.  Mount Pinatubo (Voleano nmunl;nin)"m
located in which of the following country .
(A) China
(B) Japan
(C) Philippines
(1) None of the above
73.  Match the following.
Battle Year
a. 17" battle of Panipat 1. 1526
b. 2™ battle of Panipat 2. 1556
c. 3™ battle of Panipat 3. 1761
Codes :
a b c
A) 3 1 2
B 3 2 1
<) 1 2 B
D)y 2 1 3
74, In the following question, some of the

h-ru.»g:« are missing. The missing letters
are given in the proper sequence as one of
the alternatives given under the question.
Find out the correct one,
FSL_VIS_uv_stu_rst_ _
(:E) utrvuy (B) uvtrsuv
(C) uvtrstu (D) rstrsts

75.  leakage in a refrigeration system using

Freon as refrigerant is detected by

(A) Halide torch (B) Sulphur stick

(C) Soap and water

(D) Acetylene test

-12-

1avay (1])

7P/ﬁmfa=ﬁdhun@“”‘w"#' — B
if el ard et | a—
(A) AHAT ol
(") TEFEA] (D) eI
ﬂ/mﬁm*mmmmmmm
fan siTen & 7

(A) Mﬂhﬁm’q MW

7" wrdz frngan (svemgen gdd) Feiafes §
afFmamdfum ?
(A) =
(P S
() forsfiita
(D) 37 8 & F1¢ T8

a3 Frafufan # fremso |

-33 99
.-;._Qaﬁqamamga 1. 1526
i fdfm gz 2 1556
o U AT 3. 1761
Codes :

a b ¢
(A) 3 1 2
B 3 2 1
X~ 1 2 3
(M 2 1 3

1,/ Freaferis we d 3 st e § | e s
%1 350 0 1 991 ¥ A9 v freen F w9 9
fem mn & | wd fawer =1 53 |
rst_vrs_uv_stu_rst_ _

(A) utrvuyv (B) uvtrsuy
(C) uvtrstu (D) rstrsts

i Vit & i o i ik
sy fomem 1 fam =1 v fFas gm
ST ST g ?
(py deE T
(C) | i T

(B) T e

(D) ufafee uliam
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76.

77

78.

79.

81.

82.

The Carnot cyele consistg

f _
processes and tWo adiabatic
(A) two isothermal Processes

(B) two constant Pressure P
(C) two constant volume I'-‘mcl ":ema
' sses

(D) one constant press

Complete the given series

,93.7.18,21,7
(A) 31 (B) 33

The process mvolving the flow of air
through a spray of water is done by

(A) Air washer (B) Water injection

(C) Steam injection (D) Heating coils

Which famous academician of Harvana
has served as the Governor of Kerala and

1/2020 (11)

7 L Kb b oL
i

(A) 2 TandTa wizwan

(B) 21 feom zama wizwand

() 21 foor swvaaA gfeand

?f@ﬁnmm

bRy
.3, 7, 13, 21,78y
P i

(B) 33

(C) 29 (D) 27

T8 W1 35 0 1 e | w3 e e
#1161 wfwn zra i e R )
(AT TR AT (B) T THH
(C) =W A (D) &fen Fiza

78 i & frw s R 3 ¥ o

Gujarat ?

(A) Swaraj Kaushal
(B) Sushma Swaraj
(C) Sarup Singh

(D) Om Prakash Jindal

Which report is considered as “Magna
Carta of English Education in India™ ?

(A) Sir Charles Wood's Despatch
(B) Hunter Commission Report
(C) Mecaulay’s Report

(D) Kothari Education Report

How many orbitals are possible for the
leveln =47
(A) 14
(C) 18

(B) 12

(D) 16
Hali Award 1s given by

(A) Haryana Punjabi Akademi
(B) Haryana Urdu Akademi
(C) Haryvana Sanskrit Akademi
(D) Haryana Hindi Akademi

e # e w E AW N R 7
(4) TR F9E

(B) FoN =TT %

(C) u&y fimw

(D) 3m y&m Se=

F WS R ?

(A =T 38 e

(B) &2 3yam =t foavd

() Bt 6 foged

(D) Frar faan frord
S,A‘:masﬁmﬁmmmﬂ

(A) 14 M-

(C) 18 (D) 16

Wm___mﬁmm’kl
(A) e gemEh s
(C) Efeamm Fa e

(D) Emm & w=eEh

-13-
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v o 0.6
whether there is any error in it. The

843 Fill in the blanks with a suitable word from

86.

172020 (1,

feht W

English Language
\ f1on, A sentence hns T _
- :‘:"':" r:i':'.':‘m{‘:::: (or Passive) voioe. 8 = A w w * mm -
Out n.l!‘ﬂw four alternatives suggested, (A) -
select the one which best e!pn‘ma_l.'hp T
same sentence in Passive (or Active) ‘P —
VoIce.
| () @
You must look inte this matter.
looked by you
(D) v

(A) This matter into
(B) This matter shou

by vou
(C) This matter may be looked into by

vou ’
@) This matter has been looked into by

you

Id be looked into

Read the following sentence to find out

error, if any, will be in one part of the
sentence. Mark the alphabet of that part
with error as your answer.

She uses a good / quality of shampoo /
(A) (B)

80 her hairs are / black.
() ~D)

among the alternatives given below it.

He was tired he went to wor’
(A) or (B) and
(C) but~ (D) since

In the following question, some parts of
the sentence have been jumbled up. You
are required to rearrange these parts
which are labelled as P, Q, R and S to
produce the correct sentence. Choose the
proper sequence,
P. a valuable aid to education
Q. the cinema offers

R. not only amusement

S. but is also
A Shar (B) RQSP
(C) SPQR D) QSPR

89 Hal g v, 7R AHW

90.

& namﬁaﬁﬁmm,qa:ﬁuamw‘

often F1 g5 @t A | 7@ awmo |

(A) rﬂmqaagmamﬂzﬁmnqg,

By =t ¥iten 1 T @ A i
o€ ATHE T |

(C) ¥He 1 v JE e o st g
Srom |

D) 7 & Frd 78

ERiED

FEAE R |

(A) 3FHF

(B) Smed=

(C) gF4F

(D) T8 & 18 7

T8 e 71 yum 2 g w9 2
(A) JTHTEE

(B) Tt

(C) ITTEFE
(D) 378 8 %18 7
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